Subject: Re: Reproduction of marriage data in report
Posted by Trevor-DHS on Mon, 29 May 2017 15:37:12 GMT

View Forum Message <> Reply to Message

You just need to follow the logic used before which calculated the proportion ever married, and
add the following to calculate proportion currently married and proportion never married:

* Currently married

gen currmarr = (v501==1)

svy: ratio currmarr/aw, over(v013)

* Never married

gen nevermarr = aw - evermarr

svy: ratio nevermarr/aw, over(v013)

This will provide you with the estimates in the first couple of columns in table 4.1.
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